Lk

whole number.
5.17
5.2
6
5

Round 999.6 to the nearest

whole number.
999

1000
91000
9000

Question: 8/10 =

a) 0.8
b) 8.0
c) 0.08

Question:
7

3
400+20+5+— + — =
10 1000

a) 425.307
b) 4205.37
c) 425.037

Question: 3/4 =

a) 0.75

b) 0.5

c) None of these
d) 0.25

Question: 0.6 7 0.006
a) >
b) <
c}) =

Round 5.168 to the nearest

2 Round 36.96 to the nearest
whole number.

37
36
39
40

28

28.2
029

28.24

Question: 2/1000 =

4 Round 28.243 to the
nearest whole number.

Question: 153/10 =

a) 0.002 a) 15.3
b) 0.0002 b) 153
€) 0.02 c) 1.53
Question: Question: 19/50 =
9
e a) 0.38
) 18.09 b) 3.8
a A
b) 18.9 c) 0.038
c) 18.99
Question: 0.8 =
Question: 7/20= a) 4/5
a) 0.35 o) &/10
b) 0.53 g4
) 0.7

Question: 15.9 - 10

Question: 1 + 1000

a) 1.59 a) 0.001
b) 15.09 b) 0.01
c) 159 c) 0.1
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